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Given below are two statements regarding a
smartphone that has both Bluetooth and wi=Fi
technology

mﬁuﬁw%mﬁmwaﬂwﬁw@
gaATSt ST §, et & S fU T §:

Statement (I): Wi-Fi has a shorter range than
Bluetooth.

mm?_wﬁﬁhmﬁmﬁ?ﬁﬁn

Statement (II): Wi-Fi can transmit data at a
faster rate than Bluetooth.

A (I1): AT3-ThT3 o WILAW | ST i 3Tuan
wel ek el | ST WA A Fehell 81/

In the lights of the above statements, choose the
correct answer from the option given below :

IUh AT & el |, A= fau v fawea

H o Wl 3T & Ta i

(a) Both Statement (I) and Statement (II) are true
HI9 (1) 3R (1) = 99 g1

(b) Both Statement (I) and Statement (II) are
false /&I (1) 31 (I1) 2T 376 2|

(c) Statement (I) is true_but Statement (II) i
alse/FIF (1) IF 8, dAfhd FI (11) 379A %l

(ﬂ'{gtatement (I) 1s false but Statement (II) 1s

true/F2 (]) ST g, e H94 (II) 54 ‘é'l
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Given below are two statements regarding a
smartphone that has both Bluetooth and wi=Fi
technology

mﬁuﬁ'—r%mﬁﬁmﬁ 3 ATE-wTE
TS ST &, ﬁ%aﬁmﬁqnq%:

Statement (I): Wi-Fi has a shorter range than
Bluetooth.

AT (1): ATE-THTE it IS 12T | &A gl
Statement (II): Wi-Fi can transmit data at a
faster rate than Bluetooth.

HUF (11): TE-WTE o ATETT T IS hi T0aT
el 3Tfires g 90 | 22T W1 AT UahdT gl

In the lights of the above statements, choose the
correct answer from the option given below :

IUATH HUT & ATt W, Ao fau o faameat

o H W& IV &1 9 it

(a) Both Statement (I) and Statement (II) are true
99 (1) 31 (1) 341 9 2|

(b) Both Statement (I) and Statement (II) are
false /HaF (1) AR (I1) 21 FTH 2|

(c) Statement (I) is true_but Statement (II) is
false/&HI (1) TF 2, Wl H (I1) 379 2|

(d) Statement (1) 1s false but Statement (II) 1s
true/%ﬂF-l (l) 3T-F|?q 2, dfed FHaA (1) 99 2l

4

Ans.(d):a]gq?@ﬁrgﬁgfiﬂlllm%‘ﬁaﬂai
YR W a0 4294 JeEd & 06 aR 2,
PR T I N T T & WHE &
A 3 forw yam fan o 2

R aed & W 9 9 a0 8 R &g 3 T A
fia 1fd 9 g 2w W w2




Match List I with List II: C Email T Asvnch
. . Asynchronous
it -1 o T A 11 @ firerms i) Communication/

List-I/ =it 1 List-11/ =it 11 TR
(Computer Terms)/ (Purpose)/ PRIEE] e a;u;ﬁ&mq
LHER IEC]

ey

(Y

D. Instant Messaging | IV. Synchronous
Communication/

A.OCR _/ I. Used to scan typed
or handwritten

documents/ uments/ efchd AT

TATeRae geTa

2 & T T 3 o
Wh Il g

B. OMR I1. Used to mark

multiple-choice

"

examinations/ 9g-
| feacdia v § e
3k Y= & & fou i Egsr Nogtasd4u E
m a_c"_ %l L. niine stuay




Which of the following is an ozone depleting
substance?

frefafga # @ @ - W U@ 3 & o
T aTelt U 87

() Sulphur dioxide/FeH SEHFIEE

(b) Methyl chloride/fiarEa Feze \/
(¢) Carbon dioxide/®Ta ST337aEe

(d) Methane/Hte




Which of the following is an ozone depleting
substance?

fraferfiga o ¥ @9 - 1 Ush S T &
& areTt uerd g7

(a) Sulphur dioxide/HeH SEHFIEE

(b) Methyl chloride/fiaa Faze

(¢) Carbon dioxide/&Te SE3ifadEe

(d) Methane/Htem

Ans. (b) : S &0, HI4 IEHUSA § Yot &l Ao
T H ER IR Tt 2 § @ fowen g R s

htl <h

1_chis<d

¥

1 a9 GOl 9 e aret TErfae gt #i

AfRh 5 FEU & 3HE TE G AR A e W

W%ﬁmﬁsﬁﬁﬂs‘saﬁwﬁfﬁﬁ@%l




Which of the following sources of energy is not

a form of solar power?
ﬁnmm Tt | 3T F & \/\/

w87 1 Gy
(a) Tidal Power/sarg Hai =
(b) Wind power/Ta Fl

(c) Coal/Faa ./

(d) Hydro Power/ﬁﬂﬁq'ﬂ




Which of the following sources of energy is not
a form of solar power?

fr=afafaa o ﬁ HIF-TT FAT |9 3T FA @
wY TAE &7

(a) Tidal Power/Saiig Fal

(b) Wind power/9ad il

(c) Coal/HFe
(d) Hydro Power/ﬁﬂﬁ@ﬁ

Ans. (c) : mﬁ?ﬁfﬁﬂﬁél@ﬁ(ﬁfﬂ

T i ¢ S ol W G & e a,
Tad, WK, AW, aEE, EdE g i i

$7 3R TS § AR SR W 6 @ 2l

a* . J- . =
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Which of the following natural hazards is
characterized by progressive occurrence and
multicausality?

mﬁﬁaﬁw—ﬁmmﬁﬁw
et & 2T San srfiresriaes ot =TT T i 82

(a) Earthquake/¥sh¥
(b) Volcanic eruption/Sarairigd@l faopiz
(¢) Epidemic/Ag8™HHl

(d) Storm/q%HTH

Ans. (c) : eI WiHfae 39T TR aFgdl g 3R 39
e & 99 fad 21 99 &2 faud | & d"
USH-gE I HehUd HA &, 9T & 39 d9 ¥ g arel
Aid GhAUT AT 399 yWifad SHEE & YR W 39
TR Hifd < & s 21




The abbreviation NMSHE, in the context of
Climate Action Plan of Govt. of India, Stands
for

WRA TN &l TTaquiia &rd ais-T o dad

o NMSHE frafafiaa o & forgen deramer g7

(a) National Mission on Solar-Hydro Energy
\/(,b) National Mission on Sustaining Himalayan

Ecosystem

(c) National Mission on Sustainable Hydrogen
Energy

(d) National Mission on Survey of Himalayan
Ecosystem




Which of the following pollutants have adverse icg‘-rl:rﬁ-TﬁQT-r T ° fa m'cﬁ &1 Yl T
implications for human health as well a5 oy & T 3i Terary UREd W UgaT 7

climate change? .
A. Nitrogen dioxide A, q'rgjm ELELCELE
B. Particulate matter (PM Z\V B. SUTTGHT TaTd (PM, 5)
C.Ozone C. A=
D. Methane D. o
E. Nitrous oxide seTEe
Choose the correct answer from the options RaTRgEN
(a) (B), (C) and (D) only/&aa (B) aﬁt(D)

given below: &
@ \/ 1) (A), (B) and (C) ony! 3% (4, (B) 3 (0

),
(c) (B)and D)only/m(B)aﬂI D)
(B) and (C) only/ &% (B) 3 (C)




Match List-I1 with List-Il. List I name various
organization while List-II gives their location: 3)

geft-1 & wg-11 & firems it

List/ Gef-1 | ListI/geR- 11 ~

ANAAC " TDe [ Delhi/ et )

C.NDRI e [11. Lucknow/ @43

BNIEDA ﬂ.@aluru/@ /

D. CDRI / Y. Karnal/ ST H)

(a) (A)-(I1), (B)-(11), (C)-(1), (D)-(IV)

), (
(@) (A)-(11), (B)-(1), (C)(IV), (D}IIT))
) (A)-(IT), (B)-(1), (C)(I), (D)-(IV)
) (A II),

(¢
(d) (AH1V), (B)-{IID), (C)(11), (DHI)




NEP- 2020 proposes to establish\NETF. What-
are the stipulated functions of this body?

72 Pram Ffifa (v E dr)-2020 AT 2 & ww
W TATYAT HIA T Wi g1 337 e & fafga
WehTd =T &7

f) Articulate new directions for research and
innovation in technology/WTenfiteit W

FFEYUH R FaER ¥ AU fAd AR
AT -

(B) Provide a platform for free exchange of
ideas on use of technology to understand

learning/3TfarTH @At d drenfient &
YANT & @ad W faunl & U SEE-ua
&d Ueh W HedT STl

(C) Engage multilingual
promotion of all Indian Languages

experts to hel

(D) Advancing international research efforts to
address global challenges in healthcare
agriculture and climate change using all
(Artificial Intelligence)/&aTees, ufterad,

FU IR Toarg uiads & & | afysw
FAMaAl @ WTHAT A gq A Riyrae
Rfasa @ gam @d gu i
FFHUT JATH HIAT

y) Advancing international research efforts to

address global challenges in healthcare
agriculture and climate change using all

(Artificial Intelligence)/foTarr Wrenfirant o
dffger 3 RN &IWaT3n ohr  famior

ch{HTl
WA WTETS W S rar @4 W WErEdar gd
FgUTHT favrasT st niier @A —f CA
Choose the correct_ answer from t -

options given below:/=fr=r fau 1

he
o

T WEr ST Rl ST ShitHAT :

(@) (A), (D), (E) only
() (B). (D). (E) only

XY (A), (B), (E) only
(d) (A), (C), (D) only




Which of the followjng are elearnmg
platforms?/ frafafga o Eﬂ'—r'@f?

-l J./} \ 7
(A) SWAYAM/&TY

C
(B) PRAKASH/TT@ _— %

(C) SWAYAM PRABHAWJT/

(D) DIKSHA/2term -

(E) MOOC/Hq&

Choose the correct answer from the options
given below: ﬁ'& TI'Q W | Wt I
COPDERC IS

(a) (A), (B), (E) only/&ad (A), (B), (E)
M) (A), (C), (D) only/ & (A), (C), (D)
(¢) (B), (C), (D) only/ & (B), (C), (D)
(d) (C), (D), (E) only/ a (C), (D), (E)




Which of the followin are e-learnin ' . .
] et o ing mbgmmﬁﬁ[m?m
W ? A '

(B) PRAKASH/TT@ | ﬁ?ﬂ@ﬁ'{m@ﬁﬁﬁgl ’ '

(C) SWAYAMPRABHA/@aqHT

(D) DIKSHA/def

(E) MOOC/qeh

Choose the correct answer from the options

given below: ﬁ'ﬁﬂq U ¥ Wgt I

T T T

(a) (A), (B), (E) only/&ad (A), (B), (E) 4 =
(b) (A), (C), (D) only/ &ad (A), (C), (D) ~ | Easy Notes au

Online Study * ~

(c) (B), (C), D)only/%ﬁa(B C), (D)
(d) (©), (D), (E) only/ ¥ (C), (D), (E) ' i




Which among the following goals adopted by.
the UN member States in 2015 is related to

SDG 4? \\/
ug%m?:sﬁaﬁzmsﬁmﬁm
CWeI-4 )0 wafte frafifgs § @ @E-a

W T8 3TUTAT AT o o

(a) Good health and well being/

|

b) Quality education/TUTTa fﬂ@ \/

(c) Poverty alleviation/Tdl 3¥HcT

(d) Industry innovation and infrastructure
M TaMaR T 3EEH




Which among the following goals adopted by ~[Ans: (b) : ¥7% T 5w o 4 3 2015 7
the UN member States in 2015 is related to |/ -4 ¥ e T W fen @ o

SDG - 4? ™ e ¢ fE f 2015 8 w4 g

T Y e 9 ad 2015 ¥ WA foww (AW o 2030w @ e i 17
AE-4 ¥ HaRw Prefater § @ @wem |0 o Wi ¢l @ 0 A o & fra

O T A T w F, 7 el ot 3 fe e o 9 9 3
(a) Good health and well being/ o % 9 e @ % a2
3 R 3 T
(b) Quality education/TUTerTH e
(c) Poverty alleviation/Tll 3R

¢ "/_" \J M |I=

(d) Industry innovation and infrastructure ] ——l-l E
m W Easy Notes 4u ==

@ W L Online Study ‘:’




Read the passage carefully and answer the
questions that follow:

The Corona Virus COVID-19 pandemic is the
defining global health crisis of our time and the greatest
challenge we have faced since World War Two. Sincg.its
emergence in AE ate last year, the virus has spread to
every_continentgxcept Antart(ﬁWe have now reached
the tragic milestone of one million deaths, and the human
family is suffering under an almost intolerable burden of
loss. But the pandemic is much more than a health crisis,
its also an unprecedented socio economic crisis.
Stressing every one of the country it touches, it has the
potential to create devastating social, economic and
political effects that will leave deep and longstanding
scars. UNDP 1s the technical lead in the UN's socio
economic Tecovery, alongside the health response lead
by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident
Coordinators. Every day, people are losing jobs and
income, with no way of knowing when normality will
return. Small islandnations, heavily dependent on
tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400
million jobs would be lost. The World Bank projects a
US S110 billion decline in remittances this year, which
could mean 800 million people will not be able to meet
their basic needs.

TETIT SRl WTALTHIUdeh Ud 9T 3Heh T fau g
ITT 2N

ST A Hifds-19 "Ml gHR_EHI_&H1_ FYagd
aﬁaa;iﬁm% 3R e faage & s 3t 999 ad
FA 21 T9ed a9 o sifan &l # uferar § 39 399 &
Qg g8 9 3iZThfEa Fif Siga S9% HaTEg # thel
IH 2| HE a% @I FT F 10 AR AT I T &
9 ¢ AR g8 AFadr & @A H T FHEE A IS
Ug @I 21 W 98 WUl WRed dae 9 &dl A 2,
I8 UH AYAYd GEISE-3dE dhe ff 21 I3 B TTS
=fth 399 waifad 21 39 faarwar amifss sufds 3R
w@a aret &1 Ggwh TP S gmites enfds sfaafa (Read)
¥ g ua & i U dsAal Aged SaE R W@ 8, 919 & T8
fog @ e & 98arT 9§ 9« ©® W@ gadl ggal
F ft T@ @ & T a8 dfvas wmdE sHfear fFEeE
&F & ff g uA Giide guads & Agd § s & @
2 & faq am s AisRE ik s mai ® §) 3% 6
gar f oftfRafami a8 gme= @ gdea w fafk @@
fda TPl & Fed 3R FHE-ae @rell 9 g | iy e
3A & 3EE 2 fF 400 fafems (40 U= ) arn it
At S gt @ fag 9% F sEE e @ % 39 ad
ga-39ur AfEw) # 110 fafoaa smfEh ster &t =
sl gaa fawa 2 % 8000 faferm= (80 =de) @m
st I e S U s # gud 98 @ 9

A




The pandemic has left which of the following — The major crisis faced by the world since

area umffected? World war 11 in which area? s oy 75 &
wwit a1 freifen ¥ ¥ fom o @ g mﬁwwﬂmwmmm%’

T g ¢ >
(b) Economic/iE_~ A Technologlcal/!ili]ﬂm
(C) Travel and tourism/dm 3ﬁ1 ‘JRjE'rl 7~ /K Commumcallonfﬁﬂ

) Telecommunication G ~_~ A Health@
A i

8=y &
[ Easy Notes 4u I ;é
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~ Which of the following organization has given mh Wﬂtiﬂ‘@ ifected byCOVID-TY
technical in the UN's socio-economic recovery -1 W aoe- 1) 9 Fa 0 Jwe
ot 13 o o 3 (N @ o\ <
Wm_ﬂﬁ%ﬁﬁﬁ)mmﬁﬁm OI LA
fgm 7 \ - ) Norh America 7t i =\~

) INDPo~” (b) UNICEF O AsmlysRf —

( UNGHRP ~ (d) NSC
S o — o=

‘\/




What is the actual (equivalent) discount of
three successive discounts of 8%, 10% and

12% by sale of an article’ \
T o T W 8, 10% A A AT~

A el @t anaraE (TW ) G2 M ¢

(a) 28.316% (b) 27.136%
© B16% (&) 27.631%




What is the actual (equivalent) discount of
three successive discounts of 8%, 10% and

12% by sale of an article?_~_—
@ o & fomt W 8, 10 2y & A

TRV g1 @ Ao (W ) T2 0 g
() 28.316% (b) 27.136%
81366 (@) 2060%

Ans, (b) : A% 3 BY% % 31 Foad 72 W fafy-

A+ 2

100
feam - &2 - 8%, 10% 31 12%
8% 3R 10% H o T-

8 x 10
= §+10-—

— 100
= 18-0.8
= 17.2% \/
W, 17% 3R 12% o |-
172 x 12

= 172+12- NS G

100 [ Easy Notes 4u I %
=292 -2.064 Online Study ‘;
B e




Which of the following conditions are necessary
for Anumana (inference) according to Classical
Indian Logic?

yEla R adhvTer & 3‘3’“’“@ *
foro fafarfiaa § 9 sadt gond smavas &2

. Cognition of the hetu (middle term) in the
paksa or minor term/98T o & ol TH T

. The relation of invariable concomitance

between the middle and the major term/%ﬂ' 3T
qred o sirer eruftadt wgafdar e daeier

. Cognition of the major term in the minor term/
a7 H |TET T |ATH

. Cognition of minor term only/aﬁ? gar ohl
qHATH

Choose the correct answer from the options
given below

ﬁmgﬁ
I and 2 only/%?'l 1 3T 2
(b) 2 and 3 only/ahddl 2 3T 3
(¢c) 1,2 and 3 only/1, 2 37X 3
(d) 1 and 3 only/&aar 1 3 3

\\">




Consider the following argument: Ve
Major Premise : No squares ard rectangles
Minor Premise : A@@re circles —
Conclusion : Some circles are not squares
What is the Mood of the above proposition?

ﬁwﬁ!ﬁaaa&wfawmq:

& N - mgﬁ?aﬂaﬁm?ﬁ
G|

Tirur e - AR« Wkt 3 g g
ﬁ'ﬂiﬂ‘:@'@ﬁﬂﬁ?ﬁjl QA

JUTITH ST aqTaT 1 a1 for=arm §7 @

(a) ATE (b) AEO
¢) EAO (d) EAI




Consider the following argument:

Major Premise : No squares are rectangles
Minor Premise : All rectangles are circles
Conclusion : Some circles are not squares
What is the Mood of the above proposition?

fwferiias e W forem i

T U - a1 : g oft a arenn e

G

T ST - e : At e g A £
W@Wﬂ?ﬁ%l

T 3L aTeT a1 e T 87
(a) AIE (b) AEQ

() EAQ (d) EAI

Ans, (¢)
ﬁgwﬂam % 1 s ) 7

o 3 o o -A
i BE 1 Kk 0
o, T A 8 1 PRI FAOR




'Some animals are not harmful' is an examplé

of which of the followm%types of pr posltmns"

T Y] FE T
T I §7
(a) Particular Affirmative/fauy faug
) _Particular Negativeffa'ﬁﬁ GED)
(¢) Universal Negative/ﬁﬁ?ﬁﬂ fey
(d) Universal Affirmative/ Sy faer




What fallacy is committed in the following
argument?

fraferfiga 7eh o &H-11 deh-319 27 WK
"Mr. X is wrong in what he said because he is _—
undisciplined by nature" _/

finet Tew I W g, IAW G e § ik
qF T ¥ AT &

(a) Ad hominem/Tg &IfR

(b) Ad populum/Tg TwwH
(c) Ad hoc/Tg &

(d) Ad misericordiam/Tg fusrfiaifeam




What fallacy is committed in the following Ans, (1) Eﬁﬁﬂ ﬂfﬁﬁ o Eﬁ?ﬂ -g 7 am fr
%aﬁmﬂaﬁ-mp 3t & T W 9 7 G 39 A W O ¢

"Mr. X is wrong in what he said because he is T fﬂm_maﬁ ﬂﬂmﬂ 3 \’HTER T &l
undisciplined by nature" |l .bil —
firer 1@ 4 T a7, I A T ¢ i

s - " | Easy Notes 4 .
(d) Ad misericordiam/Te friafean S




Question No. (26— 30) | What is the average number of laptops sold by
Based on the data given, answer the five questions the stores A, C and D together?

that follow. A,Cﬁﬂ@?ﬁmﬁmﬁﬂﬁﬂﬁﬁ

Consider that five stores (A, B, C, D and E) have sold ,
2400 laptops. Let the percentages of laptops sold by ﬁw aen fee %7
A, B, C; D and E be 15%, 25%, 30%, 9% and 21% (a) 1296 (b) 1104

respectively.
R (26 - 30) : A Ry g o — 0200 (d) 432

Wmﬂﬁﬁaﬁjﬁﬁ@/
HHE%ﬁMTﬂ@ﬂ(A,B,C,DaﬁTE)‘W (2)
9 B 81 A B.C, D ¥R E 30 39 TU A%y & Yovm

A 15 5w, 25 SAwE, 30 6w, 9 SvE 8% 21

SN NIPAS.




buestion No. (26 - 30) | What is the average number of laptops sold by

Based on the data given, answer the five questions the stores A, C and D together?

that folow. A, C 3 D & 3 T ey
Consider that five stores (A, B, C, D and E) have sold 3w femaet %?

2400 laptops. Let the percentages of laptops sold by (a) 1296 (b) 1104

A, B, C, D and E be 15%, 25%, 30%, 9% and 21% (c) 368 (d) 432

respectively.

TR T (26 - 30) : F9 R 0 g o [[Aos s R E

FA o9 TF AU H T => 2400

WWW*WW \ \/\u AWﬁ@WWﬁHﬁH@T:Z%Ox@:%G/
T4 T 7 = (A, B, C, D @R E) 4 2400 AT

\ ) Cméﬁﬁwﬁmaﬁmzzmoxggzﬂzo.
a9 5@ &1 A, B, C, D 3T E 30 9% T Aefy & Sfowm e - 4
T 15 S, 25 S, 30 9, O S a2y || e s 2400-055 = 216 | /]

3, A, C 3R D W 99 T F 92l H &

Fﬁﬁﬁél —> 360 + 720 + 216 __

. 1296
3d:, AP HEad = — v

= 432




buestion No. (26 - 30)
Based on the data given, answer the five questions

that follow.
Consider that five stores (A, B, C, D and E) have sold

2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively.,

T T (26 - 30 ) : el fou 0 e & AN
M e o = (A, B, C, D 3 E) 7 2400 Tl
7 51 81 A, B, C, D 31 E g0 T ctweiy a1 ¥fvvm
A 15 ST, 25 e, 30 ST, 9 S A 21
ik

If the data given above were to be represented
in the form of a pie chart, then what would be
the central angle corresponding to the number
of laptops sold by E?

gfe Iudwh fau 7T viwet &t g we W T
AT FEAT | E g @9 0 AUl % 3%
hald hIUT ST BIaT?

(a) 37.8 (b) 75.6
(c) 38.6 (d) 77.2
22

—
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Question No. (26 - 30)

Based on the data given, answer the five questions
that follow.

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively.,

T T (26 - 30 ) : el fou 0 e & AN
sinfaboint e (NPT
a9 i &1 A, B, C, D 3G I 3 M0 el a7
FAY: 15 SA9, 25 Sfev, 3onﬁm,9qﬁmafm|_:1

3w 2|

|

If the data given above were to be represente(j
in the form of a pie chart, then what would be
the central angle corresponding to the number

of laptops sold by E?
afy i few sttt (o ¥ et
TET BT Al E g ol T GUeid & 3ITHY

SHET T FAT BIAT?

(a) 37.8 (@
(c) 38.6 (d)"7T.

Ans.(b):ﬁ'zﬂé,
F a9 T AU F el A = 2400

Emé%éuzrq‘fﬂgﬂﬁ@r :>2400x£ \

E 31 9 T 9T 1 Hol e
= - : - X 360
FA o9 T AR B A & —

504
—

x 360
V2400

= 75.6" \/




buestion No. (26 - 30)
Based on the data given, answer the five questions

that follow.

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold hy
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively,

Ty TG (26 - 30 ) « e few 0 e o orEm
R A 9 R (A, B, C, D &R E) 7 2400 Wiy
94 f1 €1 A, B, C, D 3% E &R o U W & Sfovm
Y 15 e, 25 5w, 30 369w, 9 S 3 21
i

What is the ratio of the laptops sold by store A
to that of the laptops sold by store D

R A W 9 0 A0Sy @ RN D g o
U 0T & e W U a4 g7
(1) 35 (b) 5:3

€25 () 5 |



buestion No. (26 - 30)
Based on the data given, answer the five questions

that follow,

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by

A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively,

Ty TG (26 - 30 ) « e few 0 e o orEm
R A 9 R (A, B, C, D &R E) 7 2400 Wiy
9 5 1 A, B, C, D4 E g1 % M oweiy iim O

What is the ratio of the laptops sold by store A
to that of the laptops sold by store D?

R A g %l T O @ RN ) g o
0 WU @ e § U e §7
(a) 3:5 (b) 5:3 \/
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Question No. (26 - 30)

Based on the data given, answer the five questions
that follow.

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively,
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What is the difference between the number oil'
Iaptops sold by store C and the total number of

ops sold a% stores A and D together?
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Question No. (26 - 30)

Based on the data given, answer the five questions
that follow.

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively,
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The difference between the number of laptops
sold by stores A and E when expressed as
percentage with reference to the number of
laptops sold by store A, would be
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Question No. (26 - 30)

Based on the data given, answer the five questions
that follow,

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively,
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The difference between the number of laptops
sold by stores A and E when expressed as
percentage with reference to the number of
laptops sold by store A, would be
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Which of the following number systems uses
two numbers to represent data in computer”
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Satellite communication works through

#ewee W fwieen @ @ e mem @

&4 ¢

) Radar/TeR
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Satellite communication works through
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- Which of the following is the binary equivalent
of the decimal number 35?
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. Which of the following is the binary equivalent
of the decimal number 35
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. In 1T Act 2000, which section deals with
punishment for cyber terrorism?
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. Clean Development Mechanism was irs
Introduced in which of the following
international agreements’
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. Clean Development Mechanism was firs

introduced in which of the following
international agreements?
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Climate change can have serious consequences
for:

wetarg uRad= &1 fafafad o i g
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1. Water security/STeT 9T&m

Food security/3@Tel 9T&m N

Erosion of coastal zones/d21d @ﬁ &uT

Soil fertility/ger Javar

Respiratory health/gH\a @m=T

Choose the correct answer from the options
given below:
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(a) 1,2 and 3/1,2 31 3 \7

(b) 1,2.4and 5/1,2,4 3R 5

(¢) 1,2,3and 5/1,2,3 3R 5

(d) 1,2,3,4and 5/1,2,3,4 3R 5
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Climate change can have serious consequencesl
for:
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1. Water security/STeT 9T& \\;
2. Food security/Ter GTaf

3. Erosion of coastal zones/@era Q’vﬁw
4. Soil fertility/FaT IaTam

3. Respiratory health/g6 e

Choose the correct answer from the options
given below:
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(b) 1,2,4and5/1,2,4 3R 5
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